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1: #include <stdio.h>
2:
3: int main(void)
4: {
5: int i;
6:
7: for (i = 1; i <= 10; i++) {
8: printf ("%d¥n", i);
9: }
10:
11: return O;
12: }
EITHRE
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$ ./exercise0202.exe
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1: #include <stdio.h>
2
3: int main(void)
4: {
5: int i, j;
6:
7 for (i = 1; i < 10; i++) {
8 for (j = 1; j < 10; j++) {
9: if (1 <= 3) {
10: printf ("%3d", i * j);
11: }
12: else {
13: printf(" ");
14: }
15: }
16: printf ("¥n");
17: }
18:
19: return O;
20: }
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$ ./exercise0206.exe
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1: #include <stdio.h>
2
3: int main(void)
4: {
5: double m, n = 0, s = 0;
6
7 while (s <= 50000) {
8 n=mn-+1;
9 m=23%*n-1;
10: s = s + m;
11: }
12:
13: n=n-1,;
14: n=n/ 100;
15:
16: printf ("sqrt(5)=V%f¥n", n);
17:
18: return O;
19: }

RITHR -

$ ./exercise0208.exe
Sqrt(1000) =31.620000
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exercise0209.c

1: #include <stdio.h>
2
3: int main(void)
4: {
5: double m, n = 0, s = 0;
6
7 while (s <= 5000000000000) {
8 n=mn-+1;
9: m=23%*n-1;
10: S = s + m;
11: }
12:
13: n=n-1;
14: n =n / 1000000;
15:
16: printf ("sqrt(5)=%16.14f¥n", n); — M p.152 DIEERTE %2R
17:
18: return O;
19: }
EITHRER
4 N\
$ gcc -o exercise0209.exe exercise0209.c
exercise0209.c: In function °‘ main’
exercise0209.c:7: warning: integer constant is too large for ‘ long type
$ ./exercise0209.exe
sqrt (5)=2.23606700000000
$
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ITHER -

=
$ ./exercise0210.exe
sqrt (5)=2.23606797749978




